Croeso Shawlette

The idea of this small shawl
came to me during my stay to
the Wales this winter. Croeso
means "welcome", and it is to
pay tribute to the kindness, and

to the wonderful welcome of the

Welsh people that | decided to
give it this name. Choose a solid wool or very slightly qualified to

emphasize this model.

Material for the small size:

3 skeins of Serena Azure, Manos del Uruguay, or 2 skeins of Silk Blend Fino

Circular needles 3.5mm, with a cable of 100cm.
6 Stitch markers, knitting counter, Cable needle
Size:42/115¢cm

Material for the larger size:

2 skeins of 6 Karat Schoppel Wolle, knit with double threads.

Circular needles 5mm, with a cable of 100cm.
6 Stitch markers, knitting counter, Cable needle
Size:60/119cm



http://lesaiguillesdecamille.com/product.php?id_product=624
http://lesaiguillesdecamille.com/category.php?id_category=61
http://lesaiguillesdecamille.com/category.php?id_category=26

Points:

K: knit
p: purl
Yo: yarn over

SSK: slip, slip, knit: slip next 2 st knitwise, insert tip of left needle into front of these 2

st and knit them together.

SK2P: slip one st, knit 2 st together, pass slip stitch over 2 st knit together.
SK3P: slip one st, knit 3 st together, pass slip stitch over 3 st knit together.
K2tog: knit 2 together

K4tog: knit 4 together

m1: make 1

M: stitch marker

st: stitch

R: row

*... repeat from * to*

.. repeat from**to** as you arrive at 1 or 2 stitches before the next stitch marker

or the end of the row , as indicated in the row.

T1: twist 1: 6 st LC: slip 3 st. to cable needle and hold to front, k3, k3 from cable

needle

T2: twist 2: 6 st RC: slip 3 st. to cable needle and hold to back, k3, k3 from cable

needle.



First part:

Cast on 4 stitches. Knit 6 rows (but not turn the work after the last row). Make a rotation of the
work of 90 ° and knit 3 stitches along the side of your strip of knitting, one in each garter ridge (we
obtain 7 stitches). Make again a rotation of 90 ° of your work clockwise, knit 3 stitches in the row of

assembly. We obtain 10 stitches.

R1: k3, Yo, k1, Yo, k2, Yo, k1, Yo, k3 (14st)

R2 and all the wrong side rows: k3, *p*, knit the 3 last st .

R3: k3, Yo, k2, Yo, k4, Yo, k2, Yo, k3, (18st)

R5: k3, Yo, k3, Yo, k6, Yo, k3, Yo, k3, (22st)

R7: k3, Yo, k4, Yo, k8, Yo, k4, Yo, k3, (26st)

R9: k3, Yo, k5, Yo, k10, Yo, k5, Yo, k3, (30st)

R11: k3, Yo, k6, Yo, T1, T2, Yo, k6, Yo, k3, (34st)

R13: k3, Yo, k7, Yo, k14, Yo, k7, Yo, k3, (38st)

R15: k3, Yo, k8, Yo, SSK, Yo, M, k12, M, Yo, K2tog, Yo, k8, Yo, k3, (42st)
R17: k3, Yo, k10, Yo, SSK, Yo, M, T1, T2, M, Yo, K2tog, Yo, k10, Yo, k3, (46st)
R19: k3, Yo, k12, Yo, SSK, Yo, M, k12, M, Yo, K2tog, Yo, k12, Yo, k3, (50st)
R21: k3, Yo, k14, Yo, SSK, Yo, M, k12, M, Yo, K2tog, Yo, k14, Yo, k3, (54st)
R23: k3, Yo, k16, Yo, SSK, Yo, M, T1, T2, M, Yo, K2tog, Yo, k16, Yo, k3, (58st)
R25: k3, Yo, k18, Yo, SSK, Yo, M, k12, M, Yo, K2tog, Yo, k18, Yo, k3, (62st)
R27: k3, Yo, k20, Yo, SSK, Yo, M, k12, M, Yo, K2tog, Yo, k20, Yo, k3, (66st)
R29: k3, Yo, k22, Yo, SSK, Yo, M, T1, T2, M, Yo, K2tog, Yo, k22, Yo, k3, (70st)
R31: k3, Yo, k24, Yo, SSK, Yo, M, k12, M, Yo, K2tog, Yo, k24, Yo, k3, (74st)
R33: k3, Yo, k26, Yo, SSK, Yo, M, k12, M, Yo, K2tog, Yo, k26, Yo, k3, (78st)
R35: k3, Yo, k28, Yo, SSK, Yo, M, T1, T2, M, Yo, K2tog, Yo, k28, Yo, k3, (82st)

Do the row 36:k3, *p*, k3.



Second part:
R37: k3, Yo, k30, Yo, SSK, Yo, M, (k2, m1) x2, k4, m1, k2, m1, k2, M, Yo, K2tog, Yo, k30, Yo, k3,
(90st)

R39: k3, Yo, k32, Yo, SSK, Yo, M, (k2, m1) x3, (k1, m1, k2, m1) x2, k2, m1, k2, M, Yo, K2tog, Yo,
k32, Yo, k3, (102st)

R41: k3, Yo, k34, Yo, SSK, Yo, M( T1, T2 ) x2M, Yo, K2tog, Yo, k34, Yo, k3, (106st)
R43: k3, Yo, k36, Yo, SSK, Yo, M k24 M, Yo, K2tog, Yo, k36, Yo, k3, (110st)
R45: k3, Yo, k38, Yo, SSK, Yo, M, k2, m1, k20, m1, k2 M, Yo, K2tog, Yo, k38, Yo, k3, (116st)

R47: k3, Yo, k40, Yo, SSK, Yo, M, T1, T2, M m1, k2, m1, M, T1, T2, M, Yo, K2tog, Yo, k40, Yo,
k3, (122st)

R49: k3, Yo, k42, Yo, SSK, Yo, M, k12, M, m1, k4, m1, M, k12 M, Yo, K2tog, Yo, k42, Yo, k3,
(128st)

R51: k3, Yo, k44, Yo, SSK, Yo, M, k12, M (m1,k1)x6 M,k12 M, Yo, K2tog, Yo, k44, Yo, k3, (138st)
R53: k3, Yo, k46, Yo, SSK, Yo, (M, T1, T2,) x3 M, Yo, K2tog, Yo, k46, Yo, k3, (142st)

R55: k3, Yo, k48, Yo, SSK, Yo, (M, k12,) x3 M, Yo, K2tog, Yo, k48, Yo, k3, (146st)

R57: k3, Yo, k50, Yo, SSK, Yo, (M k12 ) x3M, Yo, K2tog, Yo, k50, Yo, k3, (150st)

Third part:

R59: k3, Yo, k52, Yo, SSK, Yo, (M T1,T2) x3M, Yo, K2tog, Yo, k52, Yo, k3, (154st)
R61: k3, Yo, k54, Yo, SSK, Yo, (M k12 ) x3M, Yo, K2tog, Yo, k54, Yo, k3, (158st)
R63: k3, Yo, k56, Yo, SSK, Yo, (M k12 ) x3M, Yo, K2tog, Yo, k56, Yo, k3, (162st)
R65: k3, Yo, k58, Yo, SSK, Yo, (M T1,T2) x3M, Yo, K2tog, Yo, k58, Yo, k3, (166st)
R67: k3, Yo, k60, Yo, SSK, Yo, (M, k12, M, Yo, ) x 3, K2tog, Yo, k60, Yo, k3, (172st)

R69:k3, Yo, k62, Yo, SSK, Yo, (M, k12, M, Yo, k1, Yo) x2, M, k12,M, Yo, K2tog, Yo, k62, Yo, k3,
(180st)

R71: k3, Yo, k64, Yo, SSK, Yo, (M, T1,T2,M, Yo, k3, Yo) x2, M, T1,T2,M, Yo, K2tog, Yo, k64, Yo,
k3, (188st)



R73:k3, Yo, k66, Yo, SSK, Yo, (M, k12, M, Yo, k5, Yo) x2, M, k12,M, Yo, K2tog, Yo, k66, Yo, k3,
(196st)

R75:k3, Yo, k68, Yo, SSK, Yo, M, k12, M, Yo, SSK, k5, Yo, M, k12, M,Yo,k5, K2tog, Yo, M, k12,
M, Yo, K2tog, Yo, k68, Yo, k3,(202st)

Fourth part:

R77:k3, Yo, k1, **Yo, SSK**, k1, Yo,( M, T1,T2,M, Yo, k1, **Yo, SSK**, k1, Yo) x2, M, T1,T2,M,
Yo, k1, **Yo, SSK**, k1, Yo, k3. (210st)

R79: k3, Yo, k2, **SSK, Yo**, k2, Yo, (M, k12, M, Yo, k2, **SSK, Yo**, k2, Yo) x2, M, k12,M, Yo,
k2, **SSK, Yo**, k2, Yo, k3. (218st)

R81: k3, Yo, k1, **Yo, SSK**, k1, Yo,( M, k12,M, Yo, k1, **Yo, SSK**, k1, Yo) x2, M, k12,M, Yo,
k1, **Yo, SSK**, k1, Yo, k3. (226st)

R83: k3, Yo, k2, **SSK, Yo**, k2, Yo, (M, T1,T2,M, Yo, k2, **SSK, Yo**, k2, Yo) x2, M, T1,T2,M,
Yo, k2, **SSK, Yo**, k2, Yo, k3. (234st)

R85= R81 (242st)

R87= R79 (250st)

R89=R77 (258st)

R91: k3, Yo, *k*, Yo, (M, k12,M, Yo,SSK, k18, K2tog, Yo, )x2, M, k12,M, Yo, *k*, Yo, k3 (262st).
Fifth part:

R93: k3, Yo, k1, (k12, Yo, SK2P, Yo) x5, k12, Yo, (M, k12, M, Yo SSK, Yo, SK2P, Yo, k12, Yo
SK2P, Yo, K2tog, Yo, ) x2, M ,k12, M, Yo, (k12, Yo, SK2P, Yo) x5, k13, Yo, k3. (266st)

R95: k3, Yo, SSK, Yo,(T1,T2, Yo, SK2P, Yo) x5, T1,T2, Yo,k1, Yo (M, T1,T2, M, Yo SSK, Yo,
SK2P, Yo, T1,T2, Yo SK2P, Yo, K2tog, Yo) x2, M T1,T2,M, Yo,k1, Yo,(T1,T2, Yo, SK2P, Yo) x5,
T1,T2, Yo,K2tog, Yo, k3. (272st)

R97: k3, (Yo, SK2P, Yo, k12) x6, Yo, SK2P, Yo, (M, k12, M, Yo, k2, Yo, SK2P, Yo, k12, Yo SK2P,
Yo, k2, Yo) x2, Mk12, M, (Yo, SK2P, Yo, k12) x6, Yo, SK2P, Yo, k3 (276st)

R99:k3,(Y0,SK2P,Y0,k12)x6, Y0,SK2P,Yo,(M, k12, M, Yo, SSK, k1,Yo, SK2P ,Yo, k12, Yo, SK2P
,Yo k1 ,K2tog ,Yo) x2,M k12,M, (Yo,SK2P,Y0,k12)x6, Yo,SK2P,Y0,k3. (276st)



R101: k3, (Yo, k3, Yo, T1, T2) x8, Yo, k3, Yo, (M, T1, T2, M, Yo, k3, Yo, SK2P, Yo, T1, T2, Yo,
SK2P, Yo, k3, Yo) x2, M T1, T2, M, (Yo, k3, Yo, T1, T2) x6, (Yo, k3) x2. (308st)

R103: k3, (Yo, k5, Yo, k12) x6, Yo, k5, Yo, (M, k12, M, Yo, k5, Yo, SSK, Yo, k12, Yo, K2tog, Yo,
k5, Yo) x2, M k12, M, (Yo, k5, Yo, k12) X8, Yo, k5, Yo, k3. (344st)

R105: k3, (Yo, k7, Yo, k12) x6, Yo, k7, Yo, (M, k12, M, Yo, k7, Yo, SSK, Yo, k12, Yo, K2tog, Yo,
k7, Yo) x2, M k12, M, (Yo, k7, Yo, k12) X6, Yo, k7, Yo, k3. (378st)

R107: k3, (Yo, SSK, k2, Yo, k1, Yo,k2, K2tog, Yo, T1, T2)x6, Yo, SSK, k2, Yo, k1, Yo,k2, K2tog,
Yo,( M, T1,T2, M, Yo, SSK, k2, Yo, k1, Yo,k2, K2tog, Yo, SSK, Yo, T1, T2, Yo, K2tog, Yo, SSK,

k2, Yo, k1, Yo,k2, K2tog, Yo,) x2, M T1,T2,M, (Yo, SSK, k2, Yo, k1, Yo,k2, K2tog, Yo, T1, T2)x6,
Yo, SSK, k2, Yo, k1, Yo,k2, K2tog, Yo,k3 ( 416st)

R109: k3, (Yo, k4, Yo, SK2P, Yo, k4, Yo, k12) x6, Yo, k4, Yo, SK2P, Yo, k4, Yo, (M, k12, M, Yo,
k4, Yo, SK2P, Yo, k4, Yo, SSK, Yo, k12, Yo, K2tog, Yo, k4, Yo, SK2P, Yo, k4, Yo), x2, M k12,M,
(Yo, k4, Yo, SK2P, Yo, k4, Yo, k12) x6, Yo, k4, Yo, SK2P, Yo, k4, Yo,k3 (452st)

R111: k3, (Yo, k3, Yo, K2tog, Yo, SK2P, Yo, SSK, Yo, k3, Yo, k12) x6, Yo, k3, Yo, K2tog, Yo,
SK2P, Yo, SSK, Yo, k3, Yo, (M, k12, M, Yo, k3, Yo, K2tog, Yo, SK2P, Yo, SSK, Yo, k3, Yo, SSK,
Yo, k12, Yo, K2tog, Yo, k3, Yo, K2tog, Yo, SK2P, Yo, SSK, Yo, k3, Yo)x2, M k12,M, (Yo, k3, Yo,
K2tog, Yo, SK2P, Yo, SSK, Yo, k3, Yo, k12) x6, Yo, k3, Yo, K2tog, Yo, SK2P, Yo, SSK, Yo, k3,
Yo,k3. (488st)

R113: k3, (Yo, K4tog, Yo, K2tog, Yo SK2P, Yo, SSK, Yo, SK3P, Yo, T1, T2)x6, Yo, K4tog, Yo,
K2tog, Yo SK2P, Yo, SSK, Yo, SK3P, Yo,( M, T1,T2, M, Yo, K4tog, Yo, K2tog, Yo SK2P, Yo,
SSK, Yo, SK3P, Yo, SSK Yo, T1, T2, Yo, K2tog, Yo, K4tog, Yo, K2tog, Yo SK2P, Yo, SSK, Yo,
SK3P, Yo)x2, M T1,T2,M, (Yo, K4tog, Yo, K2tog, Yo SK2P, Yo, SSK, Yo, SK3P, Yo, T1, T2)x6,
Yo, K4tog, Yo, K2tog, Yo SK2P, Yo, SSK, Yo, SK3P, Yo,k3. (416st)

Row 115: bind off: *k1, put back this st on the left needle, prick the right needle between the first
two stitches, roll up the thread around the right needle, return the right needle in front of, so as to

take out the created stitch, lace this new stitch on the left needle, in front of the existing stitches.

Do the same one more time, 2 stitches are create on the whole. Then bind off 6 st.* repeat this

until the end of the row.

Wash and block your shawlette, bring in the threads and cut them short, it's done!



